Breed type [plain - true to type]

Fixed effect: withers height
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Gender expression [weak - strong]

Fixed effect: withers height
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Frame [small-framed - large-framed]

Fixed effect: withers height
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Caliber [light - heavy]
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Length of legs [short-legged - long-legged]

Fixed effect: withers height
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Fixed effect: top SNP from GWAS withers height (rs68603062)
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Body shape [square - (long-)rectangular]

Fixed effect: withers height
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Fixed effect: top SNP from GWAS withers height (rs68603062)
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Head shape [coarse - fine]

Fixed effect: withers height
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Head length [short - long]

Fixed effect: withers height
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Fixed effect: top SNP from GWAS withers height (rs68603062)
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Eye size [small - large]

Fixed effect: withers height
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Length of withers [short - long]

Fixed effect: withers height
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Fixed effect: own top SNP from GWAS (rs1152276079)
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Size of joints [small - big]

Fixed effect: withers height
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Shape of feet (hoof size) [narrow, small - wide, big]

Fixed effect: withers height
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Fixed effect: top SNP from GWAS withers height (rs68603062)
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Rotation in the hock [marked rotation]

Fixed effect: withers height
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